NOTE: concert score, there are no key signatures
strings accidentals apply to measure and octave only

(17) WHAT IS THE WORD

(words by Samel Beckett)

A strings sustain chord
(bottom note cello 8vb)
_ - —~ 5
9 A T T T T T — 1
s A 19 . e S ———
ANV - ) h Yo T T T T 1
o) [ "o ] ] ] ] ] i
~ N | I I I
foll foll for to
Giano) o, | | y | y | |
e = : 7 : 7 : 7 :
'.Jﬂ\u 4 \bi A¥ i A¥ A¥ A¥ : V.0 : V. : V. : V. :
(strings strings sustain chord
gliss.) (bottom note cello 8vb) T .
o) " 7] - o | be 10 (gliss.)
P’ A I — I T D T T |
@ oo E— &ﬁﬁg ‘ | - — — ——
Q) L OU_ | . | v |
for to what, is theword | what is the word |
Y/ —— B S N — S S S .
B (strings sim. throughout) 15
A — - T /0
P’ A T T 1
B B folly  from this all  this folly from all this
20
%ﬁ; ; fo—To—* : : e |
hd
given folly given all this seeing folly  seeing all this
/\
A (gliss.) be 25 . | be T~ (gliss.)
A I em—— 1 ve ‘ ] . 1
ﬁb } I D be
this what is the word what is the word
C — —
9 - ‘ ‘30 o be ‘ ‘ o be ‘
%mu ! e * ; ; @ o T 1
this this this this here all this this here
35
——
) T @ T @ T
ﬁ ‘ ‘ ® ; e E—
o " -
folly given all this seeing folly seeing all  this
40 . /_\
H — a— (gliss.) be e | be
4 = | H e — . :
EET=————= = ‘ o e . be
this here for to what is the word what is the word
D
(gliss.) P — ~/

see glimpse seemto glimpse need to seem to glimpse folly



T

50 — .
A | /—Te (gliss.) be 55  be . |
A be—be a ‘ == 1 re—
o be—e \ i
\QJ)/ T I I 1
for to need to seem to glimpse what what is the
- ~ . E 60 —_— .
A be PR be e (gliss.) A/ |
b A I IT | LI Dé D ;
fNx———Dbe 5 b= [ ® e Hhe @
\QJ)/ b be e I I T T 1
word what is the word and where folly for to need to seem
N be be he — (gliss.) | -
#‘—ﬂ'—'?ﬂé'—|’—§"‘—b.—.%
%“u ——gtiss )i T — e ohe————f————
to glimpse what  where where what is the word there over
70
h/.-\ be - - - be
y - 1
b | ! ® ! |
o pe D@ Do Do
there away over there afar afar away over there afaint  afaint afar
. 80 , ..
9 75 ‘ (gliss.) be | be | T (gliss.) G =/—\‘
{rs - } i ; ; ») } !
ANV ® I i i T T ®* o be—| —— |——
Q) D@ @ e 4
away over there what what what is the word seeing
A — 85 — -~ (gliss.)
>’ 4 T T T T T T @ T
ﬁb—‘_;_i—i_;—‘_! . i—j—bi ‘ ‘ ! i
all this  all this this all this this here folly for to see
0H be (gliss.) — 95 o
A ‘ . 1 = =
%‘" —e o be ! ! : : : ‘
what  \hat is the word glimpse seem to glimpse heedto seem to
— 100
A u ./\ (gliss.)

7 =@ b P \ — T \
(:)9' p —" — = | be — s be |
glimpse afaint afar away over there what what is the word

105 I

A (gliss.) — | - 1o be
ﬁ.ﬂ_i : be be : — : 1 ‘ 1
%)u i w — w \ - - ﬁ; \ \ \

folly for to need to seem to glimpse afaint afar
(gliss.) J >

9 I g IT I" I" * lD. T I). /\ 1
(oS - — ‘ ‘ be ‘ ‘ 7 — be !
AN1YJ v | LI I I T Py

o) Do Do h t Ve

away over there what wha what is the word what is the word
T /\
9 120 be |y be : — : : be P ID-_IL'_'_BQ/—\'_@—"
Y 4N L | | L L M L il |
1$65) : P& o—_—be T T T T 1
Q) Ve
what is the word what is the word what is the word

- what word /2 -



